The Causes of Nuclear Proliferation

I. The puzzle – Why are there so few nuclear weapons states?

A. What does it take to build nuclear weapons?

B. How many states could build nuclear weapons?

II. The realist/security model

A. Proliferation

1. The proliferation chain reaction

B. Nuclear restraint

1. Lack of threat

2. Security guarantees – the “nuclear umbrella”

C. Problems and limitations of the realist model

1. Should there be fewer nukes? -- Alliances

2. Should there be more nukes? -- Anarchy

3. Exceptions -- no nukes and no allies 

III. The domestic politics model

A. Proliferation – nuclear pork barrel politics

B. Nuclear restraint

C.  Problems and limitations of the domestic politics model -- indeterminacy

IV. The norms model

A. Nuclear Restraint

B. Proliferation

C. Problems and limits of the norms model

1. Indeterminacy

2. Norms or power?

V. Preventing proliferation
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